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Q.1 7 KI.M. N and O are six teachers. Each one teaches a different subject out of Hindi. English. Math. Science. Social
Science and Arts, not necessarily in the same order. Each of them teaches on only one day. from Monday to Saturday,
not necessarily in the same order. J teaches Arts on Saturday. T teaches neither English nor Social Science. but he
teaches on Thursday. Wednesday is reserved for Maths taught by K. O teaches Science a day before N. Social Science is
taught a day before Arts. Which subject is taught on the day between Science and Math?

A XY Hindi
X % Arts
X Science
v ' English

Question ID : 9895802836
Chosen Option : 4

Q.2
Choose the option that most closely resembles the mirror image of the given word when the mirror is placed at the right

side.

Ans

X | LHOIRdU
2.

v | THOIR9U
3.

~< THOIRAU
4.

x THOIRdU

Question ID : 9895802848
Chosen Option : 2

Q3

Select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the
pattern. (Rotation is not allowed),

o
Ans ; ?

X

1.

v

X




< [

X 4

Question ID : 9895802846
Chosen Option : 1

Q.4 Select the option that is related to the third term in the same way as the second term 1s related to the first term.
Chapter: Book : : Arc:?
Ans X1 Cube
X 2 Triangle
X 3 Square
v < Circle

Question ID : 9895802830
Chosen Option : 4

Q.5 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
along the dotted line?

LV
N

X

Ans
X1 XA

v [ XX

X 3. )Q}(

X a >O<

e P

Question ID : 9895802849
Chosen Option : 2

Q6 Select the option that will correctly replace the question mark (?) in the series.

16, 20, 36, 72, ?
Ans X 1126

X 2 116

v 2 136

X 4 146

Question ID : 9895802840
Chosen Option : 3

Q.7 Eight friends A. B. C. D. E. F. G and H are sitting around a circular table facing each other for a lunch. A is opposite F
and third to the right of B. G is between F and D. H is 1o the left of D. E is berween C and A. Who is sitting fourth to the
left of A?




Ans X1 D
X2 B
V3 F
XaC

Question ID : 9895802835
Chosen Option : 3

Q.8 Select the option that is related to the third term in the same way as the second term is related to the first term.
Proud : Haughty : : Fallacy: ?
Ans x 1. EgO
X 2 War
X 3 Fall
v ¢ Tllusion

Question ID : 9895802829
Chosen Option : 4

Q.9 select the option that is related to the third number in the same way as the second number is related to the first number.

32:256::16:?

Ans of 1128
X 2122
X 3 144
X 4 66

Question ID : 9895802841
Chosen Option : 1

Q1 Choose the odd one out of the given options.
Ans X 1. Ottawa

X 2 Thimphu

X 3 Beijing

v ¢ Chile

Question ID : 9895802828
Chosen Option : 4

Q.1 In a certain code, BICYCLE is written as 59. How will WINDOW be written in that code?
1

Ans of 1 88
X 291
X 3 89
X 1 77

Question ID : 9895802833
Chosen Option: 1

Q.1




Choose the option that would follow next in the given figure series.

Bl (b | D2

I
v.| 4
w4
x|
x| &=

Question ID : 9895802845
Chosen Option : 1

Qél Select the option that will correctly replace the question mark (?) in the series.

8.19,41,74,?
Ans X1 108
X 2 98
v 3 118
X 4 128

Question ID : 9895802839
Chosen Option : 3

Q1 Choose the odd one out of the given options.

Ans X 1. ILP
v 2 JHU
X 3 FJU
X 4 THI

Question ID : 9895802827
Chosen Option : 2

Qél Choose the option in which the figure marked ‘X’ is embedded. (Rotation is not allowed)

)S

X

< [

Ans




x|

v

x|

R

Question ID : 9895802847
Chosen Option : 3

Q1 Choose the odd number out of the given options.

Ans X 1 651
v 2 571
X 3 561
X 4 471

Question ID : 9895802842
Chosen Option : 2

Q.1 In acertain code, BOTANY is written as OBATYN. How will OOLOGY be written in that code?
7

Ans X' 1. OOOLGY
X 2 OLOOYG
X 3 OOLOYG
v & OOOLYG

Question ID : 9895802832
Chosen Option : 4

Q.1 The statements below are followed by two conclusions labeled T and IT. Assuming thar the information in the statements
8 s true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1) Some forces are volumes.

2) Some currents are volumes.

Conclusion:
I Some volumes are forces.
TL  Some volumes are currents.
Ans X 1. Only conclusion IT follows.
& 2 Neither conclusion I nor conclusion II follows.
v 3 Both conclusions follow.
X 4 Only conclusion I follows.

Question ID : 9895802838
Chosen Option : 3

Q1




The statements below are followed by two conclusions labeled I and IL Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1) Some wines are chairs.
2) All chairs are drums,
Conclusion
1. All chairs are wines.

T1. Some drums are wines.

Ans - X 1. Either conclusion I or conclusion II follows.
X 2. Only conclusion I follows.

+ 3 Only conclusion II follows.

X % Both conclusions follow,

Question ID : 9895802837
Chosen Option : 3

Q2 ; i
0 Select the Venn diagram that best represents the given set of classes.

Currencies, Yuan, Baht
Ans
x 1. O[I)
| .
| .
| @
Question ID : 9895802850
Chosen Option : 3
Q.2
1

Seven friends O. P. Q. R. S. T and 1U are watching a movie sitting in a row. S is sitting at one extreme end. Q is sitting
ANS  second to the right of S. P s sitting between O and Q. U is not sitting at any extreme end, R is sitting to the left of T.
Who i sitting berween § and Q?




X 2
X 3
X 4

W O ®WCa

Question ID : 9895802834
Chosen Option : 3

Q2-2 Select the option that will correctly replace the question mark (?) in the series.

RMB. POZ, NQX. LSV, ?
Ans of 1 JUT
X2 VT
X 3 JUS
X 4 VS

Question ID : 9895802826
Chosen Option : 1

Q?;Z Find out the two signs to be interchanged to make the following equation correct.

21+5%2=21+3="12
Ans X1+ and -
X2 -and+
W 3 - and x
X 4 xand+

Question ID : 9895802844
Chosen Option : 3

QAZ Select the option that will correctly replace the question mark (?) in the given pattern.

6 7 9
3 4 ?

27 | 33 65

ans of 14
X225
X311
X413

Question ID : 9895802843
Chosen Option : 3

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.

5
GKM:FIO: :EIK:?

Ans X 1. DGN
X 2 DFM
v 3 DGM




X 4 DHEM

Question ID : 9895802831
Chosen Option : 3

Q2 Ashoka appointed religious officials, known as:
Ans o 1. Dhamma-mahamatta

X 2 Dhammadhiraja

X 3 Dhammadhikari

X 4 Dhammadhyaksha

Question ID : 9895802886
Chosen Option: 1

Q2 Bank rate is decided by which of the following agencies?
Ans . X 1 Securities and Exchange Board of India

v 2 Reserve Bank of India
X 3. State Bank of India
X 4 Ministry of Finance

Question ID : 9895802895
Chosen Option : 2

Qéz The cabinet has raised the Minimum Support Price of wheat for 2018-19 by:
Ans of 1% 105 per quintal

X 2. 202 per quintal

X 3. 309 per quintal

X 4 Z 600 per quintal

Question ID : 9895802896
Chosen Option: 1

Qéz In which year was the Earth summit of Rio de Janeiro held?

Ans X 1 199]
X 2 1993
v 2 1992
X 41990

Question ID : 9895802889
Chosen Option : 3

ng Pandit Bhimsen Joshi is associated with which tradition of classical music?
Ans - X 1. Qawwali

X 2 Thumri

& 3 Carnatic

v 4 Hindustani




Question ID : 9895802885
Chosen Option : 4

%% Muscle cramp is caused by:
Ans - X 1 water loss during sweating
X 2 fatiguing muscles respiring aerobically

X 3. increased blood circulation
v ¢ accumulation of lactic acid

Question ID : 9895802880
Chosen Option : 4

Q2-3 Which of the following languages is NOT a part of the Eighth Schedule of the Constitution?

Ans - X 1. Dogri
X 2 Bodo
v 3 Persian
& 4 Santhal

Question ID : 9895802892
Chosen Option : 3

Q3;3 Which of the following is NOT in the jurisdiction of the Supreme Court of India?
Ans X1 Appellate

X 2 Original

X 3. Advisory

+ ¢ Financial

Question ID : 9895802893
Chosen Option : 4

23 The percolation rate of water is the leastin ___ soil.
Ans  of 1 clayey

X 2. sandy

X 3 gravel

X 4 loamy

Question ID : 9895802879
Chosen Option : 4

Qé3 The Jnanpith Award is given for excellence in which of the following fields?
Ans X 1. Medicine

& 2 Social work

v s Literature

& 4 Cinema

Question ID : 9895802900
Chosen Option : 3




Q6-3 The 2018 Commonwealth Games were held in:

Ans o 1 Gold Coast
X 2 London
X 3 Doha
X 4 Brazil

Question ID : 9895802882
Chosen Option : 1

Q7-3 Which one of the following countries is NOT a member of the BASIC grouping?

Ans X 1 South Africa
X 2 China
X 3 Brazil
« : Kenya

Question ID : 9895802899
Chosen Option : 4

Q.3 The 86™ Constitution Amendment Act, 2002 inserted which of the following articles in the Constitution of India?
8

Ans of 1 21-A
X 2 39-A
X 3 20-A
X 4 56-C

Question ID : 9895802894
Chosen Option: 1

QP Pl & ¢ #i7 @ RAUwa Tuw aegear # dgada g & Fr gafe §2

e KL pomes
X 2 grer arar
X 5. raTeTH
v o g

Question ID : 9895802884
Chosen Option : 4

Qd“ was the founder of the Shuddhi Movement.
Ans  of 1 Swami Dayanand Saraswati

X 2 Swami Vivekananda
X 3. Ishwar Chandra Vidyasagar

X 4 Raja Ram Mohan Roy

Question ID : 9895802888
Chosen Option : 3

Q4 Which among the following CANNOT be used as indicators?




Ans X 1. China Rose
X 2 Phenolphthalein

v 3 Common salt
X 4 Turmeric

Question ID : 9895802877
Chosen Option : 3

Q4 The Nagarjuna Sagar Dam is built across the river:

Ans X 1. Pamba
& 2 Mahanadi
v 3 Krishna
X 4 Cauvery

Question ID : 9895802890
Chosen Option : 3

Qs;“ The Jataka tales are associated with which of the following sects?
Ans - X 1. Lingayat

X 2 Shaivism

X 3 Jainism

v ¢ Buddhism

Question ID : 9895802887
Chosen Option : 4

Q.4 Mirabai Chanu won a Gold medal at which of the following events held in Anaheim. United States?
4

Ans - X 1. World Snooker Championships
X 2 World Archery Championships
' 3 World Weightlifting Championships
X 4 World Tennis Championships

Question ID : 9895802881
Chosen Option : 3

Q4 refers to a deposit into a bank account or a financial instimtion with no specified maturity date.
5

Ans . 1. demand deposit
X 2 fixed deposit
X 3. recurring deposit

' 4 current deposit

Question ID : 9895802897
Chosen Option : 4

QG-“ The *Gol Gumbaz’ is located in:

Ans 1.




X 2 Bidar
X 3 Daulatabad
X 4 Hyderabad

Question ID : 9895802883
Chosen Option : 1

Q4 According to Census 2011, has the highest literacy rate.
Ans X 1. Mizoram

X 2 Goa

v 2 Kerala

& 4 Karnataka

Question ID : 9895802891
Chosen Option : 3

Qé“ ‘Adopt a Heritage: Apni Dharohar, Apni Pehchaan’, is the initiative of
Ans - X' 1. Indian Council of Historical Research

+ 2 Ministry of Tourism

X 3. Archaeological Survey of India

X 4 Ministry of Culture

Question ID : 9895802898
Chosen Option : 4

Q4 Land and sea breeze are caused due to
Ans of 1 convection

X 2 acclimatisation

X 3. radiation

X 4 conduction

Question ID : 9895802878
Chosen Option: 1

Q5 What is the role of mucus secreted by the stomach?
Ans  of 1 To protect the lining of the stomach

X 2 To digest fats

X 3. To kill the germs in the food

X 4 To digest the proteins

Question ID : 9895802876
Chosen Option : 3

Q.5 P.Qand R can complete a work in 30 days. 15 days and 20 days respectively. P works on first day. then Q works on
1 second day and then R works on third day and so on. In how many days the work will be completed?

Ans of 1. 20 days
X 2. 21 days




X 3. 22 days
X 4. 19 days

Question ID : 9895804633
Chosen Option : 1

Q.5 Iflength. breadth and height of cuboids are increases by 10%. 20% and 15% respectively, then what will be the
2 percentage change in its volume?

Ans X1 47.4%
X 2 45%
3 51.8%
X 4 54.2%

Question ID : 9895804624
Chosen Option : 1

Q5
3 What is the value of [24+4_E ng+1]'?
3

8 4
Ans of 1 = |

X3.9—1-
X -8

Question ID : 9895804618
Chosen Option: 1

Q.5 Tfthe average of five consecutive odd numbers is 17. then what will be the highest number among theam?
4

Ans  of 1
X222
X3 19
X4 235

)

N -

Question ID : 9895804620
Chosen Option: 1

Q.5 The length of a rectangle is 24 cm. If the length of diagonal 1s 26 cm. then what will be the breadth of the rectangle?
5

Ans X112 cm
X2 l4cm
X 3 15cm
v 4 10cm

Question ID : 9895804636
Chosen Option : 4

Q.5 If selling price of an article is T 432 and profit is 35%, then what will be the cost price of the article?
6

Ans - X1 F 480.40
v T 320
X 3 T 583.20




X 4 T 368

Question ID : 9895804625
Chosen Option : 2

Q.5 A wain covers a certain distance at a speed of 45 my's in 15 misutes. How much time it will take to cover the same
7  distance at the speed of 60 mys?

Ans - X 1325 minutes
X 2. 4.75 minutes
X 3 6.75 minutes
v 4 11.25 minutes

Question ID : 9895804635
Chosen Option : 4

Q5 What is average of 410, 475, 525, 560 and 720?

Ans X 1. 561
X 2 542
W 5 538
X 4 526

Question ID : 9895804621
Chosen Option : 3

Q.5 The diagonal of a square is 10 em. Whar will be the length of the diagonal of the square whose area is double of the area
9  of first square?

AnS o 1 10V2 em
X 2 8\2cem

X 3 20V2 cm
X 4 20cm

Question ID : 9895804638
Chosen Option: 1

Q.6 What will be the difference between the componnd inferest (interest is componnded annually) and simple interest on a
0 sum of T 6400 at the rate of 10% per annum for 2 years?

Ans X 1 F 90
X2372
X3 T128
v ZTe64

Question ID : 9895804631
Chosen Option : 4

Q.6 2r geat #r Brswd 20 ¥ Fuwr 156 T ¥ IR v FHY I F NG el Jeal & ST F T
1 5w §, & A 7 # Bewn w2 aem

A X1 35 LA
X222 g
X3 27 4.
v 4 25 A




Question ID : 9895804637
Chosen Option : 4

Q.6 A sumofT 3460 is lent at simple interest. If the rate of interest is 5% per annum. then what will be the simple interest
2 for 5 years?

Ans X 1 T 875
v T 865
X3 T 855
X 4 3845

Question ID : 9895804630
Chosen Option : 2

QS;G What is the value of
s 12 4 1 3

= T e Sl S
4 5 25 2 4
Ans 149
Xl-T
v 158
8
N i
8
X 4 153
16

Question ID : 9895804619
Chosen Option : 2

Q.6 What will be the ratio of Highest common Factor and Least Common Multiple of two numbers 14 and 187
4

Ans X 1] :49
X21:27
X3 1:21
v :i1:63

Question ID : 9895804617
Chosen Option : 4

Q.6 The bar chart given below shows the annual production (in 1000 tonnes) of coffee of a country for years 2009 to 2013.

2000

1800
1500
1200
800 I
2009 2010 2012 013

2011

What is the percentage increase in the production of coffee in the year 2011 as compared to year 20107

Ans xl- 20%
X 2 27.5%
v i 25%
X 4 32.5%

Question ID : 9895804641




l Chosen Option : 3 J

Q.6 The pie chart given below shows sale of different types of cars in a city for a given year. The toral sale of cars in the city
6 is600000.

What is the sum of total number of cars sold of type T5, T6 and T3?

Ans - X' 1. 232000
« 2. 228000
X 3. 245000
X 4 252000

Question ID : 9895804640
Chosen Option : 2

Q.6 If two successive discounts of 25% and 20% respectively are given. then what will be the net discount percentage?

7

Ans X1 42.5%
X 2 45%
X 3 50%
W o 40%

Question ID : 9895804622
Chosen Option : 4

Q% What is the mean of the given data?

23, 24, 25, 26, 27, 28, 29, 30, 31, 32
Ans X1 26.75

X 2 27.69

Vs 275

X 4 26.12

Question ID : 9895804623
Chosen Option : 3

Q.6 _1 alone can complete a work in L0 days and B alone can complere the same work in 20 days. In how many days both A
9 and B rogether can complete half of the total work?

Ans
40
XL - days

20
2.5 days

10
= days

25
45 days

Question ID : 9895804632
Chosen Option : 3

Q.7 Pand @ starts a business with investment of T 28000 and T 42000 respectively. £ invests for 8 months and Q invests for
0 one year. If the toral profit at the end of the year is ¥ 21125, then what is the share of P?

Ans




X 1312625
X 2 T 14625
v 3 T 6500
X 4 T 8750

Question ID : 9895804629
Chosen Option : 3

Q.7 The pie chart given below shows sale of different types of cars in a city for a given year. The toral sale of cars in the city
1 is 600000

i

What is the difference in the number of cars sold of type T3 and T1?
Ans - X 1. 21000
X 2. 24000
' 3 18000
X 4. 27000

Question ID : 9895804639
Chosen Option : 3

Q.7 Four numbers are in the ratio of 3 : 1 : 7 : S respectively. If the sum of these four nimbers is 336. then what is the sum
2 of first and fourth mimber?

Ans X 1152
X2 172
v 2 168
X 4 146

Question ID : 9895804627
Chosen Option : 3

Q.7 Anrainis moving at the speed of 20 m's. If the length of train is 540 metres. then how much time will it take to cross a pole?
3

Ans - X1 108 seconds
X 2 81 seconds
v 3 27 seconds
X 4 54 seconds

Question ID : 9895804634
Chosen Option : 3

Q.7 The ratio of number of children. women and men in a colony is 6 : 4 : 3 respectively and the colony has at least 200
4 members. What could be the minimum number of women in the colony?

Ans X 1 75
X 2 80
v 64
X 4 20

Question ID : 9895804628
Chosen Option : 3




Q.7 A person purchases bags at the rate of T 128 per bag. If he sells bags on 20% profit. then what will be the selling price
5 of 15 bags?

Ans X 1 F 1600
V2 T 2304
X3 32194
X4 T 1886

Question ID : 9895804626
Chosen Option : 2

Section : English Language

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substiture it, select No Improvement.

My favourite novelist in all was Charles Dickens, who really left his mark on me.
Ans - X 1. No improvement

v ) My favourite novelist of all
X 3. My favourite novelist between all

X 4 My favourite novelist at all

Question ID : 9895804440
Chosen Option : 2

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.

The man greeted his secretary and told her that he need her help to complete the work immediately.
Ans - X 1. to complete the work

& 2 told her that
+ 3 he need her help

X 4. greeted his secretary

Question ID : 9895804438
Chosen Option : 3

Q.3 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substiture it, select No Improvement.

Meeting my teacher after ten years was an unforgotten moment that I will always treasure.

Ans - X 1. a forgotten moment
« 2 an unforgettable moment
X 3. the unforgotten moment

X 4 No improvement

Question ID : 9895804441
Chosen Option : 2

Q4 Select the most appropriate word to fill in the blank.

Smoking is to health.
Ans . X 1. tedious

X 2 serious




& 3 anxious
« 4 injurious

Question ID : 9895804460
Chosen Option : 4

Q5 Select the antonym of the given word.

STINGY

Ans  of 1 Generous
X 2. Skinny
X 3 Cheap
X 4 Mean

Question ID : 9895804452
Chosen Option : 1

Q6 Select the most appropriate word to fill in the blank.

Letus our heads together to solve the problem.
Ans 31 join
2 put
X 3. bring

X 4 combine

Question ID : 9895804461
Chosen Option : 2

Q7 Select the option that means the same as the given idiom.

To see eye to eye
Ans  of 1 To agree with another
X 2 To love another

X 3. To threaten another
X 4 To fight with another

Question ID : 9895804455
Chosen Option : 1

Q8 Select the correctly spelt word.
Ans - X 1 Acheive

v 2 Achieve

X 3 Acheeve

X 4 Achiev

Question ID : 9895804459
Chosen Option : 2

Q.9




Select the most appropriate option to fill in the blank.

In the United States of America two dozen people
Ans o 1. have been killed
X 2. are being killed
& 2 has killed
& 4 has been killed

due to the present cold wave.

Question ID : 9895804442
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
0 substiture it, select No Improvement.

When you go by rail. make sure taking the express train that stops cnly at big stations,
Ans - X 1. make sure to taking

X 2 No improvement

v : make sure to take
X 4 making sure to take

Question ID : 9895804439
Chosen Option: 1

Ql-l Select the most appropriate option to fill in the blank.

I think that childhood is a time when there are ways to make life enjoyable.
Ans o 1 many

X 2 less
X 3 little
X 2 more

Question ID : 9895804443
Chosen Option: 1

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
2

Afier finishing his tiring game, Rohan leaned by the wall.
Ans - X 1. his game
& 2 Rohan leaned
X 3. After finishing
+ 4+ by the wall

Question ID : 9895804437
Chosen Option : 4

1 1 7, IO
Q3 Select the synonym of the given word.

IMPECCABLE
Ans - X 1. Imperfect
v 2 Flawless

X 3 Smooth




X 4 Clean

Question ID : 9895804450
Chosen Option : 2

Q1 Select the option that means the same as the given idiom.

To have the gift of the gab
Ans of 1 To be eloquent

X 2 To be intelligent

X 2 To be boastful

X 4 To be gifted

Question ID : 9895804454
Chosen Option : 1

Q! Select the antonym of the given word.

OPAQUE

Ans - X 1 Turbid

« 2 Transparent
X 3. Fogged

X 4 Murky

Question ID : 9895804453
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.

Withour water (1) animal can survive. In desert regions the greatest (2) 10 life is dving of thirst. Bur many
creatures are able to make use of (3) little warer that exists in arid areas. One of nature’s masterpieces (4)
creamres equipped to (5) with desert life is the hardy camel.

SubQuestion No : 16

Qél Select the most appropriate option that will fill in the blank number 1.
Ans X' 1 any

X 2 some

X 3 every

v« no

Question ID : 9895804445
Chosen Option : 4

Comprehension:

In the following passage some worda have been deleted. Fil! in the blanks with the help of the alternatives given.

Withour water (1) animal can survive. In desert regions the greatest (2) 1o life is dying of thirst. But many
creatures are able to make use of (3) little warter that exists in arid areas. One of nature’s masterpieces (4)
creamres equipped to (5) with desert life is the hardy camel.

SubQuestion No : 17

Q7'1 Select the most appropriate option that will fill in the blank number 2.
Ans of 1 threat




X 2 warning
X 3. worry

X 4 requirement

Question ID : 9895804446
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.

Withour water (1) animal can survive. In desert regions the greatest (2] 1o life is dying of thirst. But many
creatures are able to make use of (3) little warer that exists in arid areas. One of nature’s masterpieces (4)
creamres equipped to (5) with deserr life is the hardy camel.

SubQuestion No : 18
Qél Select the most appropriate option that will fill in the blank number 3.
Ans of 1 the
X 2 that
X 3 very
& 4 what

Question ID : 9895804447
Chosen Option : 3

Comprehension:

In the following passage some worda have been deleted. Fil! in the blanks with the help of the alternatives given.

Withour water (1) animal can survive. In desert regions the greatest (2) 1o life is dying of thirst. But many
creatures are able to make use of (3) little warter that exists in arid areas. One of nature’s masterpieces (4)
creamres equipped to (5) with desert life is the hardy camel.

SubQuestion No : 19

Qél Select the most appropriate option that will fill in the blank number 4.
Ans X1 besides

X 2 about

« 3 among

X 4 between

Question ID : 9895804448
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.

Withour water (1) animal can survive. In desert regions the greatest (2) 10 life is dving of thirst. Bur many
creatures are able to make use of (3) little warer that exists in arid areas. One of nature’s masterpieces (4)
creatures equippad to (5) with desert life is the hardy camel.

SubQuestion No : 20

Q(f Select the most appropriate option that will fill in the blank number 5.
Ans of 1 cope

X 2 resist

X 3. adapt

X 4 live

Question ID : 9895804449
Chosen Option: 1

—




Ql'z Select the word which means the same as the group of words given.

A place where fights take place
Ans X 1. Arsenal

v 2 Arena

X 3 Asylum

X 4 Aquarium

Question ID : 9895804870
Chosen Option : 2

Q2'2 Select the word which means the same as the group of words given.

A poem that expresses lament for the dead
Ans - X 1. Lyric

X 2 Ode

« 2 Elegy

X 4 Sonnet

Question ID : 9895804457
Chosen Option : 3

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
3

If it weren't for the old man, we haven’'t had anything to talk about.

Ans of 1 we haven't had
X 2. anything to talk
& 3 for the old man
& 4 If it weren’t

Question ID : 9895804436
Chosen Option: 1

Q2 Select the synonym of the given word.

SLENDER
Ans X' 1. Narrow

X 2 Wide
v 3 Slim
X 4 Weak

Question ID : 9895804451
Chosen Option : 1

Q2 Select the correctly spelt word.
Ans X' 1. Permanant

+ 2 Permanent

& 3 Pirmenent

X 4 Perminent




Question ID : 9895804458
Chosen Option : 2

Section : Hindi Language

Q1 frr arv a3 Ywiftee wE F SfaTwtg ) & v sUgea ReeT &1 9 )
TAY A AT § BT AT Y e

A XKL et STemdr &

X 2 AT T B

X 5 NI =TT B

v o 3T =TT &

Question ID : 9895803956
Chosen Option : --

%2 few 1T ereg # faEE T
=gfaed

Ans X1. m
2 FAgeRall

v wERed

X & FAgeRTe

Question ID : 9895803968
Chosen Option : --

O e AT g F TATIATE U FT AT FI
S
Ans KL oY
X2 i3
X 3 3T
v i orfRremar

Question ID : 9895803970
Chosen Option : --

% R T e w1 Rew T
HTETOT

A XL sreRofra
X 2 FIreRoT

v o ggfagor
X 4 3HATSIOT

Question ID : 9895803967




l Chosen Option : --

Q3 fro are T F Ywife wE F SREwRE = ¥ B sugEs Reer w1 9w w1
AT & a1 R & D Hi9d @ caaEar S|

e XL ST & cgawer

X 2 st Fr sgaw

X3 SIS FY egaE

v SIS W ETEET

Question ID : 9895803955
Chosen Option : --

Qﬁﬁvmmwagmmﬁ%mﬁaﬂég%%l
AT FEpfa & Tad 937 faQwar @1 8, 3ear # Tehdn
A KL 3Ear # e

. ARAT TP

P W@E
X+ e §37 fLar

Question ID : 9895803953
Chosen Option : --

“ TE T T o T FL
Ans xlm
2 faspar
X3 Reyar
X o dryar

Question ID : 9895803976
Chosen Option : --

Q'Sﬁ;vmmwagﬂmmﬁmﬁaﬂégﬁ'%l

FU F A § TG 97 INEaT AW FT H 7R E
e K g g &
. R I W

3 378 B
4 FEY 937 9REaT

Question ID : 9895803952
Chosen Option : --

Q.9




few 1w amF & 37 awT A w5 e FE IR 2

FTHFST AR Fr TG Te=hr & ar 9et Hr 7@ T 2
A o HTHERTST AT
2 & TE BT gl
X3 & e
X 4 TFhr & & urer

Question ID : 9895803951
Chosen Option : --

T R Ay F T T e g

ST FH ST 2
Ans xlm
v mE

X s e
X 4 HoTe

Question ID : 9895803974
Chosen Option : --

Q1 R T 1 SR F T 3G g F WIS R o5 @ B
Ans X 1 TeRTT
2. HETHAIRT
X as
v o grr

Question ID : 9895803958
Chosen Option : --

Comprehension:

frfofa ey & Rea syt & ofd oy & @ Ro
AT FA F AN HIAT -

e F7Er & (1) & AT ¢ | (2) shae & 3k
e 7 | (3) T F5d Teat H & g 3R g ¢
I g H S T FIH AT § TR 4) | gFT &
1Y FeTAaTe &Y (5) g & |

SubQuestion No : 12
% wregier # wHfad Red T (1) & fow sugea
Qreg grem
Ans X1 iy
X 2 OrT
Xy




W 2 T

Question ID : 9895803962
Chosen Option : --

Comprehension:

el ey & Rea syt & ofd oy & Jr Ru
AT FeA F AN HAT -

e F7Er & (M FaAET L | (2) shaa § 3k
e 7 | (3) 3T T5d & H & gW AR 3 €
I o H I I FH FAT § I8 § (4) | ¥AT &

Y FoTAaTe &Y (5) g & |

SubQuestion No ; 13
% aeziyr # wHaT Rea T (2) ¥ Rw sege
oreg grem
A X 1. SEEAT
X 2 TeRaT
X s gizar
v o SgaT

Question ID : 9895803963
Chosen Option : --

Comprehension:

frfofa ey & Rea syt & ofd oy & @ Ro
AT FA F AR AT -

e 78 & (1) & AT ¢ | (2) shae & 3l
g 7 | (3) T Tod e H & G 3R e ¢
I T AN T FH AT L T E 4) | 7T &

Y TAAGTH BT (5) g £ 1

SubQuestion No : 14
Y aezrer # g Rea T (3) ¥ Rw sugE
rec g
A XL foReER
v TH-TFT
X 3 I HealeT W
X s aframshr

Question ID : 9895803964
Chosen Option : --

Comprehension:




el ey & Rea syt & ofd oz & J=r Rw
AT G F AN AT -

e F7Er & () F AT S| (2) shaa § 3k
g 7 | (3) T FEd A H & gW AR 3 ¢
HT ge A SN Tcd FH FAT L TE & (4) | THT &

Y TAAGTH BT (5) g g1

SubQuestion No : 15
% aregier & wHfaa Red T (4) F o s
qreq g
A X L TE
X 2 gfters
v S
X+ o

Question ID : 9895803965
Chosen Option : --

Comprehension:

=l ey & Rea syt & ofd oy & @ Ro
AT FeA F AN HAT -

e 78y & (1) & AT ¢ | (2) shae & 3k
e 7 | (3) 3T Tod et H & W 3R 3g ¢
I g H S Fed FH AT L TR Q) | gFT &
Y FoTAaTe &Y (5) g & |

SubQuestion No : 16
% aezrr # wHaT Rea T (5) ¥ Rw sagE
ereg grem
e XL T
v o FHHIE
X 3 grepdat
X & ATHHTE

Question ID : 9895803966
Chosen Option : --

Q! fra T 1 o0 F U 39T g F IT F WA @l =

AL e
X 2 orfag
X o HES
X o FHHET

Question ID : 9895803959
Chosen Option : --

—




Qél AefefE & & 57 RFee & 797 1 ' FEar de $9 | JErE & FY wmed w1

Ans X 1 HEET 9rer 91T
v . YA FLAT
X 3 IIET ITA HgAT

X 4 I F FEar 9T ™eEr

Question ID : 9895803971
Chosen Option : --

Qél P RRE & ¥ 38 ReT & 904 #Y S TF ¥ FE F @9 gga 1 HY e w0
AT of 1 T AT F TSl

X 2 9gTAT SATAT

X 3 JTR HAAT FHAT

X4 g7 F §g F AT

Question ID : 9895803972
Chosen Option : --

T R e # R F R s9gea e F 9T H

AU TTH A g
Ans xlm

X2amg

v dia

PSP

Question ID : 9895803960
Chosen Option : --

Ql.Z v o = F it @ # sforwia s & B sage BeeT &1 99w w4
FATS & A 9 S ARG ST AT 956 1Y § A O 9T SRl gl
L S O H gTHT B

2 FY g F TIHT 2
3 Y O T TTHT 2
“ FY UT T TIHT B

Ans

Question ID : 9895803954
Chosen Option : --

Y R & gy % BT v aeg gAv

S foar By g H1T

Ans x1. m
X 2 HETT




o
X g

Question ID : 9895803973
Chosen Option : --

—
Y R T g ¥ IATAET A= FoATT FI

Question ID : 9895803969
Chosen Option : --

Question ID : 9895803957
Chosen Option : --

Y T I T A T TTA FL
K2 sfeem
|~/3-3-reﬂm
X o iy

Question ID : 9895803975
Chosen Option : --
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Section : General Section

Q.1 Ina certain code, WORKER is written as OKROKR. How will ASSUME be written in that code?
Ans of 1. SUESUE

X 2. SUESVE

X 3 SUMSUM

X 4. SSESSE

Chosen Option : 1

Q.2
Select the option that will correctly replace the question mark (?) in the given pattern.

9 |81 |?

25 |121 | 289
49 [169]361
Ans - XT7 729
X 2 125
X 3. 256
W s 225

Chosen Option : 4

Q3
Select the Venn diagram that best represents the given set of classes.

Units, Watt, Volt
Ans

1.

X




X 4

Question ID : 9895802925
Chosen Option : 2

Q.4 The statements below are followed by two conclusions labeled T and T1. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1} Some mouses are whales.

2) All whales are dogs.

Conclusion:
T Some mouses are dogs.
IL No mouse is dog.

Ans o 1. Only conclusion I follows.

X 2 Both conclusions follow.
X 3 Neither conclusion I nor conclusion II follows.
/< 4 Only conclusion II follows.

Question ID : 9895802913
Chosen Option : 1

Q.5 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
along the dotted line?

Xz
A

Ans

X1 NS

X 2

"
[T




v 2 X

i
1
P
P
'
v

"
T

Question ID : 9895802924
Chosen Option : 4

Q6 Select the option that will correctly replace the question mark (?) in the series.

9,20,42,75,7
Ans - X1 99
X2 129
X 3 109
v 4119

Question ID : 9895802914
Chosen Option : 2

Q.7 Eight friends A, B. C. D. E, F. G and H are sitting around a circular table facing each other for a hunch. A is opposite F
and third to the right of B. G is between F and D. H is to the left of D. E i3 between C and A. Who is sitting opposite H?

As /1B
X2
X3
X4.

Q@ OO

Question ID : 9895802910
Chosen Option : 1

Q.8 The statements below are followed by two conclusions labeled T and 1. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1) Al knights are nuns.
2) All nuns are men.
Conclusion:
I All men are knights.
IO All knights are men.
Ans X L Either conclusion I or conclusion II follows.
X 2 Both conclusions follow.

« 3 Only conclusion II follows.
X 4 Only conclusion I follows.

Question ID : 9895802912
Chosen Option : 3

Q9 Choose the option in which the figure marked ‘X’ is embedded. (Rotation is not allowed)

Dl

X

v [

Ans




X2

X 3.

S

Ji

Question ID : 9895802922
Chosen Option : 1

le Choose the odd one out of the given options.

Ans  of 1 EKO
X 2 JIu
X 3 KVG
X4. QMJ’

Question ID : 9895802902
Chosen Option : 2

Qil Select the option that is related to the third term In the same way as the second term is related to the first term.

DEH:HIL::GHL:?
Ans xl_ KJP
X 2 KPL
V'3 KLP
X 4 KLO

Question ID : 9895802906
Chosen Option : 3

Q.1 Choose the option that most closely resembles the mirror image of the given word when mirror is placed at right side.

Ans

Xl.

MOITVI0A

Jz.

MOITADOV

x3.

NOITYO0V

X4.

NOITVOO0A

Question ID : 9895802923
Chosen Option : 2

Qél Choose the odd one out of the given options.

Ans X L Colombia
x i Canada
v  Asia




X 4 China

Question ID : 9895802903
Chosen Option : 3

Q.1 select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the
4 partern. (Rotation is not allowed).

A
VNIV N

X

Ans

K HN

X2.

Question ID : 9895802921
Chosen Option : 3

Qs-l In a certain code, CIRCLE is written as 50. How will AT GAE be written in that code?

Ans K 157
V2 26
X3 23
X 4 50

Question ID : 9895802908
Chosen Option : 2

Q.1 seven friends O. P. Q. R. S. T and U are watching a movie sitting in a row. S is sitting at one extreme end. Q is sitting
second to the right of S. P is sitting between O and Q. U is not sitting at any extreme end. R is sitting to the left of T.
‘Who is sitting between P and R?

Ans X LU
X2 R
X3.Q
V4o

Question ID : 9895802909
Chosen Option : 4

Q7'1 Select the option that will correctly replace the question mark (?) in the series.
SNC., QPA, ORY, MTW, ?
s X T KUU

X 2 KVV

X * KUV

v KVU




Question ID : 9895802901
Chosen Option : 4

Qél Select the option that will correctly replace the question mark (?) in the series.

20, 24,40, 76, ?
Ans X 1 130

X 2 120

X 3 145

4 140

Question ID : 9895802915
Chosen Option : 2

Qél Choose the option that would follow next in the given figure series.

s ?

A B C D E

Problem Fig.

Ans

x1.

X 2

X 4

7B
X
[
1%

Question ID : 9895802920
Chosen Option : 3

Q.2 J K T,M Nand O are six teachers. Each one teaches a different subject out of Hindi, English, Math, Science, Social
0 Science and Arts. not necessarily in the same order. Each of them reaches on only one day. from Monday to Satrday,
not necessarily in the same order. J teaches Arts on Saturday. L teaches neither English nor Social Science, bur he
teaches an Thursday. Wednesday is reserved for Maths taught by K. O teaches Science a day before N. Social Seience is
taught a day before Arts. Which subject is taught on the day benween Social Science and Math?

Ans X1 Science
V' ? Hindi
X 3 English
X 4 Arts

Question ID : 9895802911
Chosen Option : 1

Qiz Select the option that 15 related to the third term in the same way as the second term is related to the first term.

Ans Acroplgne  Hanger :: Gun : ?

X  Shoot




o 2. Armoury
X 3. Human
X 4 Fire

Question ID : 9895802904
Chosen Option : 2

Q2'2 Choose the odd number out of the given options.
ans WL 27
V2 625

X 3 343
X4 125

Question ID : 9895802917
Chosen Option : 2

Qs;z Find out the two signs to be interchanged to make the following equation correct.
30+28%x3-16+4=-50

Ans XL x and +
' % +and-
X % -and x
X% -and+

Question ID : 9895802919
Chosen Option : 2

Q.2 select the optien that is related to the third number in the same way as the second number is related to the first number,
4

Question ID : 9895802916
Chosen Option : 4

QE;Z Select the option that is related to the third term in the same way as the second term is related to the first term.
Chef : Knife : : Surgeon : ?
Ans L Scalpel
X 2 Grip
X % Chisel
X * Spade

Question ID : 9895802905
Chosen Option : 1

Q.2 g 5 g :
6 ‘Do or Die’ was the slogan of which famous movement in India?

AnS 1 Quit India Movement

X % Civil Disobedience Movement
X * Non-cooperation Movement

X Rowlatt Movement




Question ID : 9895804849
Chosen Option : 1

Q2 ‘Which Indian city is the first to make it to the UNESCO World Heritage List?

Ans - X' 1. Bhubaneswar
X 2 Indore
/X 3 Bengaluru

« 4 Ahmedabad

Question ID : 9895804845
Chosen Option : 1

Qéz Doddabetta is the highest peak of which of the following mountain ranges?
Ans X 1 Vindhya

X 2 Satpura

X % Aravalli

o % Nilgiri

Question ID : 9895804854
Chosen Option : 3

Qéz Which of the following statements about the National Human Rights Commission is correct?

Ans X 1 It consists of 10 members.
o % Tts powers are only recommendatory in nature.

X * Mumbai serves as its Headquarters.

X 4 Its chairman must be a sitting judge in the Supreme Court.

Question ID : 9895804867
Chosen Option : 4

%3 The King Khalid International Airport serves which country?
AN XL Syria

x 2. Iraq

X ° Bahrain

v " Saudi Arabia

Question ID : 9895804852
Chosen Option : 4

Q1‘3 Which of the following is one of the criteria to represent the standard of living in a country?

Ans

X Industrial growth
X % Poverty ratio

X * National income

o * Per capita income

Question ID : 9895804857
Chosen Option : 4




 Rapid integration between countries is known as :

Ans o 1 globalisation
X 2 liberalisation
& 3 modernisation
X 4 privatisation

Question ID : 9895804855
Chosen Option : 1

Q3'3 The term “double fault” is used in:

Ans X 1 volleyball

v 7 tennis
X 3 snooker
& * kabbadi
Question ID : 9895804848
Chosen Option : 2
Q3 is widely used as a fuel and is a major component of compressed natural gas.

4
Ans - 1. Propane
X 2 Octane

« ° Methane
X % Butane

Question ID : 9895804862
Chosen Option : 3

Q5'3 Which one of the following products received the first geographical indication (GI) in India?
A 5 dige
" X" Mizo Chilli
X Ratlami Sev

X % JohaRice
« % Darjeeling Tea

Question ID : 9895804846
Chosen Option : 4

Qé3 Where did Babur defeat Ibrahim Lodhi in 15267
A" X Haldighati

X % Kalinjar

X % Chausa

« % Panipat

Question ID : 9895804850
Chosen Option : 4

Q.3
7

A" 1 Khajuraho
X % Somnath

Which temples are well-known for their Nagara-style of architecture having erotic sculptures?




/< 3 Hampi
X 4 Meenakshi

Question ID : 9895804844
Chosen Option : 1

Qé3 The temperate grasslands of South Africa are called:
Ans - X L Downs

X 2 Praries

/< 3. Pampas

V' 4 Velds

Question ID : 9895804853
Chosen Option : 3

%3 The prestigious Laureus World Sports Awards was given to the Indian athlete:

Ans 1. Anirban Chatterji
/X 2 Pankaj Advani
X ° Dutee Chand
« “ Vinesh Phogat

Question ID : 9895804863
Chosen Option : 3

%4 The term ‘mutation’ primarily refers to:
ANS X 1 genetic migration

X 2 genetic line

X 3 genetic correction

o genetic mistake

Question ID : 9895804861
Chosen Option : 1

Q1.4 Which of the following countries won the Men’s Hockey World Cup 2018?
Ans L Belgium
- New Zealan
X » New Zealand
X 3 Argentina
X * Pakistan

Question ID : 9895804847
Chosen Option : 3

Q2'4 Panchayati Raj institutions came into existence under the:

e 42" and 43" Amendment Acts
X % g6t and 7™ Amendment Acts
X% 631 and 64™ Amendment Acts
V" 737 and 74 Amendment Acts




Question ID : 9895804868
Chosen Option : 4

Q,o;4 Which IUCN document lists endangered species of flora and fauna?

Ans - X 1 Blue List
X 2 Green List
' 3 Red List
X % Black List

Question ID : 9895804860
Chosen Option : 3

Q.4 Who among the following introduced the practice of Sijda (prostration) and Paibos (Kissing the feet of monarch) in the
4 court?

Ans X 1 Allauddin Khalji
X 2 Firoz Shah Tughluq
X 3 Muhammad bin Tughluq
« % Ghiyasuddin Balban

Question ID : 9895804851
Chosen Option : 1

Q.4 is a microfinance organisation and community development bank founded in Bangladesh which makes small
5 loans to the impoverished without requiring collateral,

Ans X1 Reserve bank
X 2 Federal bank
X 3 Cooperative bank

« * Grameen bank

Question ID : 9895804856
Chosen Option : 4

Qé4 Which of the following is NOT a sustainable development goal targeted to be achieved by 2030?

AN X L Gender Equality
X 2 Zero Hunger
X % Good Health and Wellbeing
« * Space Research

Question ID : 9895804864
Chosen Option : 3

Q7'4 A measures the humidity of the air.

A
" ' hygrometer

X % micrometer
X % thermometer
X * hydrometer

Question ID : 9895804858
Chosen Option : 1

°* Which household waste has an excellent recycling potential?




Ans - of 1. Vegetable scraps
X 2 Metal
X % Plastic
X * Rubber

Question ID : 9895804859
Chosen Option : 1

%4 World Energy Outlook is released by the:
AN X 1 International Energy Tribunal
« % International Energy Agency

X 3 World Economic Forum
X 4 International Energy Organisation

Question ID : 9895804865
Chosen Option : 4

st According to the 2011 census. the total percentage of Muslims in India is :

Ans X1 10.2
X 2124
X 3 16.6
v 4142

Question ID : 9895804866
Chosen Option : 2

Q.5 Asumof T 11700 becomes T 16848 in 2 years at the rate of compound interest. If the interest is compounded annually.
then whar will be the rate of inrerest?

Ans o 1 200%
X % 159
X317
X 425

o

U —

%

2
2 in

Question ID : 9895804781
Chosen Option : 1

Q5 A sum of T 4650 is lent at simple interest. If the rate of interest is 7.5% per annum, then what will be the simple interest
for 4 years?

A T 1305
X % T 1295
X% T 1495
X * 71300

Question ID : 9895804780
Chosen Option : 1

Q5 Pipe C canfill a tank in 12 hours and pipe D can fill the same tank in 40 hours. In how many hours both pipe C and D
together cau fill the same tank?

Ans
60
x L 7 hours




120
X 4 = hours
11

Question ID : 9895804782
Chosen Option : 3

Q.5 The length. breadth and height of a solid cuboid is 14 cm. 12 cm and § cm respectively. If cuboid is melted to form
4 identical cubes of side 2 cm. then what will be the number of identical cubes?

Ans  of 1168
X2 144
X 3 156
X 4 128

Question ID : 9895804788
Chosen Option : 3

Q.5 The average weight of all the vehicles in a parking is 4000 kg. The average welght of 12 vehicles is 6000 kg. Average
5  weight of the remaining vehicles is 3000 kg. What is the total number of vehicles in the parking?

Ans - X1 40
V2 36
X3 20
X 4 30

Question ID : 9895804771
Chosen Option : 2

Q5 . ) 1, 10
© What is the value of 80 + 40 — 10— 5 x 4 of (3 +22)2
Ans ;L =i2
40
X2
3 22
x 5

v+ 10

Question ID : 9895804768
Chosen Option : 4

Q5 The total weight of 12 boys and 8 gitls is 1080 kg. If the average weight of boys is 50 kg. then what will be average
7 weight of girls?

AN XL 55kg
X % 50kg
% 60 kg
X+ 45kg

Question ID : 9895804770
Chosen Option : 3

Q5 e diagonal of a square is 14 cm. What will be the length of the diagonal of the square whose area is double of the area
of first square?

Ans ]
X' 282 em

v % 1472 em
X3 28cm

X 212 cm

[ Question ID : 9895804787




l Chosen Option : 2

Q9-5 The line chart given below shows the production (in 10000s) of cars in 7 different months.

ML M2 M3 M4 M5 M6 M7

Production of cars in month M4 is what percent of the production of cars in month M2?

Ans X 1. 125%
v'2 75%
X 3 66.66%
X 4 83.33%

Question ID : 9895804791
Chosen Option : 3

kS What is the value of [88 —44-+- (22X 4) of G - 4l ¥ %)] ?

VIR
% 2. 2
514

3. ===
x 9
711

4, ——
x 3

Question ID : 9895804769
Chosen Option : 1

Q.6 The Least Common Multiple and Highest Common Factor of two numbers are 60 and 3 respectively. If their difference
1 is 3, then what will be the sum of these two numbers?

Ans X1 24
X2 35
V'3 27
X 4 21

Question ID : 9895804767
Chosen Option : 3

QZ'G Selling price and cost price of an article are in the ratio of 7 : 5. What will be the profit/loss percentage?

ANS 1 40% profit
X 2 28.59% profit

X 2 20% loss
X % 14.28% loss

Question ID : 9895804776
Chosen Option : 1

QéG The length of a rectangle is 16 ci. If the length of diagonal is 20 cm, then what will be the breadth of the rectangle?

Ans XL gem
V72 12¢cm
X3 10cm




X 4

Question ID : 9895804786
Chosen Option : 2

Q.6
4
Ans X 1.
J 2.
X
X 4
Question ID : 9895804790
Chosen Option : 2
Q.6
5
Ans X 1.
X2
¢3.
X
Question ID : 9895804784
Chosen Option : 3
Q.6
6
Ans x 1.
x?
J 3.
x 4.
Question ID : 9895804783
Chosen Option : 3
Q.6
7
Ans X 1.
X2

v
x 4




Question ID : 9895804789
Chosen Option : 3

Q.6 Four numbers are in the ratio of 2 : 5 : 3 : § respectively. If the sum of these four numbers is 432, then what is the sum
8  of first and fourth number?

Ans X1 192
X2 216
'3 240
X 4 232

Question ID : 9895804777
Chosen Option : 3

Q.6 The length of platform is double of the length of train. Speed of the train is 144 kmyhr. If train crosses the platform in 30
9 seconds, then what 1s the length of the platform?

Ans - X L 600 metres
' 2 800 metres
X 3 500 metres
X 4 400 metres

Question ID : 9895804785
Chosen Option : 2

Q.7 The ratio of number of children, women and men ina coleny 1s 6 : 4 : 3 respectively and the colony has at least 200
members. What will be minimum number of children in the colony?

Ans XL 48
X272
X3 64
v’ 96

Question ID : 9895804778
Chosen Option : 4

Qi7 The marked price of an article is T 1200 and discount offered is 31%. If profit is 15%o, then what will be the cost price?

s XL T 640
X2 T704
X3 T748
v ZT120

Question ID : 9895804772
Chosen Option : 2

Q7 Ifthe length of a rectangle increases by 50% and the breadth decreases by 25%, then whar will be the percent increase
in its area?

Ans XL 15%
X% 17.5%
v 12.5%
X+ 25%

Question ID : 9895804774
Chosen Option : 3

Q7 Selling price of first article is T 470 and cost price of second article is T 470. If there is a loss of 20% on first article and
profit of 20% on second article, then what will be the overall profit or loss percentage?

A
" o 2.22%loss
< 4% profit




X 3. No profit no loss
X 4. 1.80% loss

Question ID : 9895804775
Chosen Option : 1

Q.7 Teena, Reena and Sheena start a business with investment of respectively T 24000, T 28000 and ¥ 20000. Teena invests
4 for 8 months, Reena invest for 10 months and Sheena invests for one year. IT the toral profit at the end of year is¥
25810, then what is the share of Teena?

Ans of 1 T 6960
X2 % 10150
X 3. T 7940
X 4 8700

Question ID : 9895804779
Chosen Option : 4

Q7 What is the median of the given data?

1,3,6,2,5,8,3,8,2
Ans  of 1.
X 2.
X 3.
X 4

[0 SLE | [ ¥

)
W

Question ID : 9895804773
Chosen Option : 1

Section : English Language

Q1 Select the most appropriate option to fill in the blank.

Gita won't pass the examination and will Rita.
Ans - X 1. por

X2 or

X 3. either

v 4. peither

Question ID : 9895804469
Chosen Option : 4

Q.2 Select the most appropriate option to substinte the underlined segment in the given sentence. If there is no need to
substitute it, select No Improvement.

Tourists visiting Leh take home photos and memories but leave back a mountain of waste.

Ans - 1. leave away
X 2. left back
X 3. No improvement
v 4. leave behind

Question ID : 9895804465
Chosen Option : 4

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

The Second Anglo-Maratha War had shattered the (1) of
the Maratha chiefs, but not their spirit. The loss of their freedom
caused them deep (2). They made a last (3)

attempt to regain their independence in 1817. The lead in
organising a united front of the Maratha chiefs (4) by the
Peshwa who was smarting under the (5) control exercised
by the British Resident.

SubQuestion No : 3

23 Select the most appropriate option that will fill in the
blank number |,

Ans X1 patience
X 2 dignity
W 3. power
X 4 time

Question ID : 9895804471
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

The Second Anglo-Maratha War had shattered the (1) of
the Maratha chiefs, but not their spirit. The loss of their freedom
caused them deep (2). They made a last (3)

attempt to regain their independence in 1817. The lead in
organising a united front of the Maratha chiefs (4) by the
Peshwa who was smarting under the (5) control exercised
by the British Resident.

SubQuestion No : 4

24 Select the most appropriate option that will fill in the
blank number 2.

Ans  of 1. agony

X 2 distress
X 3 fear

X 4 depression

Question ID : 9895804472
Chosen Option : 1

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

The Second Anglo-Maratha War had shattered the (1) of
the Maratha chiefs, but not their spirit. The loss of their freedom
caused them deep (2). They made a last (3)

attempt to regain their independence in 1817. The lead in
organising a united front of the Maratha chiefs (4) by the
Peshwa who was smarting under the (5) control exercised
by the British Resident.

SubQuestion No : 5

?° Select the most appropriate option that will fill in the
blank number 3.

Ans - X1 violent
X 2 massive
o 3 desperate
X 4 feeble

Question ID : 9895804473
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

The Second Anglo-Maratha War had shattered the (1) of
the Maratha chiefs, but not their spirit. The loss of their freedom
caused them deep (2). They made a last (3)

attempt to regain their independence in 1817. The lead in
organising a united front of the Maratha chiefs (4) by the
Peshwa who was smarting under the (5) control exercised
by the British Resident.

SubQuestion No : 6

®° Select the most appropriate option that will fill in the
blank number 4.

ANS X1 was taking

o 2 was taken
X 3 had taken
X % were taken

Question ID : 9895804474
Chosen Option : 1

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

The Second Anglo-Maratha War had shattered the (1) of
the Maratha chiefs, but not their spirit. The loss of their freedom
caused them deep (2). They made a last (3)

attempt to regain their independence in 1817. The lead in
organising a united front of the Maratha chiefs (4) by the
Peshwa who was smarting under the (5) control exercised
by the British Resident.

SubQuestion No : 7

Q7 Select the most appropriate option that will fill in the
blank number 5.

Ans - X1 cruel
X 2 orthodox
X 3 pleasant

o 4 rigid

Question ID : 9895804475
Chosen Option : 2

Q8 Select the synonym of the given word.

AGILE

Ans X1 Aggressive
W 2 Active

X * Dull

X 4 Lazy

Question ID : 9895804476
Chosen Option : 2

99 Select the correctly spelt word.

Ans - X L Gratefull
X % Greatfull
X 3 Greatful
W' Grateful

Question ID : 9895804485
Chosen Option : 2

Qo'l Select the antonym of the given word.

HIDEOUS

' = Beautiful

X 2 Secretive

X 3 Detestable

X * Ugly

Ans

Question ID : 9895804478

: ofﬁsei\ ﬂ)tion 03




91 Select the antonym of the given word.

BLESS
Ans x 1. Purify
X 2 Sanctify

X 3 Wish
W 4 Curse

Question ID : 9895804479
Chosen Option : 2

Q2-1 From the given options, identify the segment in the sentence which contains the grammatical error.
Ram always tries to do things very carefully and made sure he does them correctly.
Ans X 1 to do things
/< 2 Ram always tries

X 3 does them
« “ and made sure

Question ID : 9895804463
Chosen Option : 4

Qél From the given options, identify the segment in the sentence which contains the grammatical error.

If they had a playground here, they can play after their school is over.

Ans X L after their
/X< 2 If they had

X 3 school is over
« % they can play

Question ID : 9895804464
Chosen Option : 3

Qf Select the correctly spelt word.

Ans X1 Oceation
X 2 Occassion
W * Occasion
X % Ocassion

Question ID : 9895804484
Chosen Option : 2

Qél Select the option that means the same as the given idiom.

A red letter day
AN %1 Asad day
X % A boring day
« % A memorable day
X % A painful day

D : 9895804480
Chosen Option : 3




Qél Select the word which means the same as the group of words given.

Someone who leaves one’s country to settle in another country.
Ans - X 1 Tourist

« 2. Emigrant

/X 3 Foreigner

X 4 Explorer

Question ID : 9895804871
Chosen Option : 2

Q7'1 Select the most appropriate word to fill in the blank.

Justarethe ~ of God.
Ans  of 1. ways

X 2 deeds

X 3 plans

X+ tricks

Question ID : 9895804486
Chosen Option : 1

le Select the synonym of the given word.

MELODIOUS
Ans X 1 Rhythmic
X 2 Rattling
v ° Tuneful
X * Doleful

Question ID : 9895804477
Chosen Option : 4

le Select the option that means the same as the given idiom.

To eat humble pie
ANS X 1 To deny desperately

X % To defend oneself
o 3 To accept error

X % To be aggressive

Question ID : 9895804481
Chosen Option : 4

Q.2

o From the given options, identify the segment in the sentence which contains the grammatical error.

I said you to prepare the article yesterday but you didn’t.

ANS XL the article
v i I said you
X< voudidn’t




X 4. to prepare

Question ID : 9895804462
Chosen Option : 3

Ql‘z Select the most appropriate option to fill in the blank.

Youcanvisitmeon  at7o’clock.
Ans - X L. tomorrow
X 2 next month
X 3 today

« 4 Sunday

Question ID : 9895804468
Chosen Option : 1

Q.2 select the most appropriate option to substitute the underlined segment in the given sentence. If there ts no need to
2 substitute it, select No Improvement.

Yesterday eleven coaches of a train headed for Delhi was derailed at Vaishali district of Bihar.
Ans K1 was derailed in
v 7 were derailed in
X 3 No improvement

X % were derail at

Question ID : 9895804467
Chosen Option : 2

Qéz Select the most appropriate word to fill in the blank.

are to be avoided: they lead to conflict.
AN X 1 Questions
X 2 Statements
« 3 Arguments

X % Decisions

Question ID : 9895804487
Chosen Option : 3

Q-2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No Improvement.

On inspection a hundrad year old bridge was find being too weak to take the load of lakhs of vehicles everyday.

ANS %1 was being found
X 2 No improvement
' % was found to be
X * has to be found

Question ID : 9895804466
Chosen Option : 3

Qg;z Select the word which means the same as the group of words given.

Ans One who is present everywhere




Omnipotent

Omuniscient
Omnipresent

XXX

Omnivorous

Section : Hindi Language

Ql Tl & ¥ 30 feT & 707 F{ A N FEra F HY ;S T B
e X1 2 dree Sarer

V2 I F WY AT FAT

X3 g T gARG FEAT

X 4 grer  diear

Question ID : 9895804023
Chosen Option : --

** T T A weg @ TUE FY
Ans xl- CEt

Question ID : 9895804027
Chosen Option : --

Q'gﬁﬁmﬁma:%vmarammﬁl

3T AT gl
Ans xl_ mggq‘

Vo SEremT
aé’ﬂ'ﬁ@'
X 4 FarerHT

Question ID : 9895804011
Chosen Option : --

QAﬁ:trmala;a:w‘lwﬁramammaﬁl

i

Ans  of 1 e
X 2o
X ° 3age




Question ID : 9895804021
Chosen Option : --

Comprehension:

frafaf@a gy & Rea wu&t & 9f ez & & e
AT FA F HFAX AT -

TER & g aed 3UF (1) FF & 3ea1d &
(2) W g 2 3R BIE W B THHA Aol FA H
o (3) & T aisT FeETe Felr AT F TaREE W
(4) & TaTE FE e FEpA H UH (5) ¥ -

3TH § & e g 2 &, % s=o1 F= ¥ 7L

SubQuestion No : 5
sz F wHAE Rea T (1) F R sagEa
rec g
Ans xl- q’g’é‘
v 7 ofyem
X5 g
X 4 gHFRST

Question ID : 9895804013
Chosen Option : --

Comprehension:

fe=fof@a ey & Rea wuat @ 9fd gz & & e
AT FeAT F HFAR AT -

TOR & T cOiad 3UF (1) &TF & FodAd &F
(2)quﬂéﬁ3aiﬁaéﬁmmmmﬁ

e (3) & Fram SeT AT T AT F TEE W
(4) Fr TaTR T T TERT H TH (5) ¢ -

3IH ¥ & I g g E, % s=or W= ¥ A4

SubQuestion No : 6
e A H Tarfad NaFa T (2) & fow sugea
reg g
Ans x;L aa-
X2 RaEw
X3 g
v fiiy

Question ID : 9895804014
Chosen Option : --




Comprehension:

frafaf@a gy & Rea wu&t & 9f ez & & e
AT FA F HFAX AT -

TER & #AgA afed HIF (1) % & 37310 &
(2) W g & 3R BIE W BT FTHSA AAarel FA H
o (3) & T aisT FeETe Felr AT F TaREE W
(4) & TaTeR FEIr e FEpA H UH (5) ¥ -

3TH ¥ & Y g A £ % z=or == ¥ A4

SubQuestion No : 7
o e H Tarfad NaFad ¥ (3) & fow sugea
rec B

Ans Jl' ﬁﬁ

X 2 3

X

X 4 T

Question ID : 9895804015
Chosen Option : --

Comprehension:

fe=fof@a ey & Rea wuet @ 9fd gz & J=r e
AT FeAT F HFARX AT -

HERX & A afad 3w (1) =& & 3=a1a &

_ (2) R 8 3 O ¥ O THH A F H
o (3) & fFaml e SAaTe Foir AAfST A TREE W
_ @ F I wrgT I EEpA AT (5) ' -

3TA ¥ & w1 g g 8, &% s=or == ¥ 7@
SubQuestion No : 8

*° sz # T Red T (4) F R swgE
oreg, BT

Ans 1 B

v 2 AT

XS.E&

X4 e

Question ID : 9895804016
Chosen Option : --

Comprehension:




feafof@a ey & Rea wuEt & 9f gz & &= e
AT FA F HJAX HIAT -

HER & A Ofad 33U+ (1) &TF & FedAd &F
(2 R 8 3R OR ¥ ORI THSH A F A
o (3) & T aieT FeETe Felr dAfelT F TAEE W

(4) Fr TaTHr FE AT TEFT H TS (5) & -
35TA T & w7 g 2 ¥, % swor e ¥ AL

SubQuestion No : 9
*° aregrer # wHfaa Red T (5) ¥ e suge
reg g1

Ans v sfag

X2 gﬁg

X ama

x 4 ggﬁ—d'

Question ID : 9895804017
Chosen Option : --

le%(rmm?q'a:rﬁmgﬁl

Cr =1
e X1 gk
V2
X 3 Hgar

X+ g

Question ID : 9895804018
Chosen Option : --

T mE T A o F 9T Y
Ans ¢1_ ﬁ

X 2 Sergar

K> wrd

X et

Question ID : 9895804026
Chosen Option : --

Qélmmﬁmtmmwammmﬁl

I F T F AT ST g
Ans 1

X




,/2. By
X oftm
XY

Question ID : 9895804008
Chosen Option : --

Ul R 7w T # Wik @ @ swaie #% F P sgE T &1 we

B g 7 Rod TR F E g & wor 3 ¥
At XL e s

X 2 HET geq F

V'3 T gea Hr

X4 HE gET F

Question ID : 9895804005
Chosen Option : --

Qfﬁ'trmam:a:rﬁmgﬁl

TR
XL g
X 2 Sterer
v e
X4 dqad

Question ID : 9895804019
Chosen Option : --

%' Ry T g ¥ TEEE weE #T 9TF F

9T

Ans x1_ a_na.
X7
v afim
X+ T

Question ID : 9895804020
Chosen Option : --

Qélﬁﬁrmamhra:%vweﬁgﬁvl

sﬁamqgﬁa:aﬂa-gég‘r
Ans XIW
JZ.W




X 3 yfeTEaT

X« g

Question ID : 9895804024
Chosen Option : --

Y Red T # R F T 39gEd O%g # 9T F

HTIT mwmg@r:ﬂl

Ans

X1 gaag
X 2 JARIT
\,3'?3?

X 4 sfreor

Question ID : 9895804010
Chosen Option : --

% R v A w1 ag g A Sy e w3

=g T T F AlEE # aelte 8Y § % g9 FH IS 94|
Ans L FF ET

X2 adt & Atga 7

X o yfer 89 A

X 4 9% I FH 9IS T

Question ID : 9895804002
Chosen Option : --

Ol Rw e e # Ywifea we # sfawma w9 F R soqwa fwes #1 59w w7

&N H TE o §, Al @ides T g
X 1 s FEH FaA gl

X 2 Fifde w8 giaA= gl

v o Fifde Fee g g

X« Fifde T T gEAT gl

Ans

Question ID : 9895804007
Chosen Option : --

Q.2




RFa v &1 s & v 3ugewa aeg #1997 H

HEUTH & FET 2 Tl 9= MR T 90
S A -

X2 a3

X3 3

X4 3

Question ID : 9895804009
Chosen Option : --

Y R e T oA ST A A e #1S T R

HATER I37 7 3297 2le TO1fgT FAMERT HF THRIcHS G2 T
v gAER 95 # 32T

X > FeRIcHAs feem &

X5 gntr =i

X gEERT &

Ans

Question ID : 9895804004
Chosen Option : --

fo%;#?fﬁét@hf#i%mwaragﬁtrl

Sma o a @
Ans x1_ mm

v 2 3T

X3 erfdaemedr

X 4 meEd

Question ID : 9895804025
Chosen Option : --

Y ftefd § ¥ 56 Reew & T8 ST S ST AR
e 1 7 wFT A gl
e X 1 Sgd ST HTA
v’ §T T 919 AT
X ° FH 9 &
X ¢ fAe-Sper X 919 HL

[ Question ID : 9895804022




l

Chosen Option : - J |

% Rv o AT F oA ST W WY e #E g ¥

ws' X1 e F dE ¥ B
2. I g
s AT CHTS-31Y ATHS
» gERR B

T H-HYY AHF A H WA & o grer B & gergd

Question ID : 9895804003
Chosen Option : --

SfeaTe 1 FHEA TR T $ G H T §87 aUF A ¢
L TIEYAT T &F Ja494 H

2 TATELT TET & A9 H

s TEATELY TETAT & T A

‘. TIEY [T & I9 H

Ans

—
QE;Z v v g & Ywifea @ @ SfawiE w3 F R sugs fees &1 99 H

Question ID : 9895804006
Chosen Option : --




Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

Roll No. :

Registration No.

Name :

Exam Venue : iON Digital Zone iDZ Bannerghatta Main Road
Exam Time : 4:00 PM - 5:30 PM

Exam Date : 14/02/2019

Section : General Section

Q.1 In a certain code, DIG is written as 60. How will FEED be written in that code?
Ans X190

v 2. 80

X3 20

X 4. 50

\{UCDLEUII iD . JOJOIOVUOO L
| Chosen Option : 2 |

Q.2

Eight friends A, B, C. D. E, F. G and H are sitting around a circular table facing each other for a lunch. A is opposite F
and third to the right of B. G is between F and D. H is to the left of D. E is between C and A. Who is sitting third to the
~fH?

ans T D
X2 A
X3 B
Vi F

QuUbLiUII 1D . JO0JOOUSO o
| Chosen Option : 2 ’

Q.3

A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
along the dotted line?

N
<

Ans ¥

x [

X 2

%

v [&]

X [ &

\JUUbLiUII 0. 906I900US SO T ]




l Chosen Option : 4 J

Q.4 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1.) All pens are frogs.
2.) All crows are frogs.
Conclusions:
I. No pen is a crow.
II. Some pens are Crows.

Ans 1. Only conclusion IT follows.

& 2. Both conclusions follow.
3. Only conclusion I follows.

v 4 Either conclusion I or conclusion II follows.

Question ID : 9895803375
Chosen Option : 3

Q.5 Select the option that is related to the third term in the same way as the second term is related to the first term.
BFH:HBF::GKM:?
Ans X' 1. KMG
X 2. MKI
v 2 MGK
X 4 IKM

Question ID : 9895803369
Chosen Option : 3

Q.6 Select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the
pattern. (Rotation is not allowed).

X -

Ans

v

F S

X a4




Question ID : 9895803384
Chosen Option : 2

Q7 Choose the odd number out of the given options.

Ans X1 216
v 2 65
X3 8
X 4125

Question ID : 9895803380
Chosen Option : 2

Q-8 Choose the option in which the figure marked ‘X’ is embedded. (Rotation is not allowed)

X

X

Ans

r 8

F )

v

F

ot o

Question ID : 9895803385
Chosen Option : 1

Q.9 Sseven friends O, P. Q. R. S, T and U are watching a movie sitting in a row. S is sitting at one extreme end. Q is sitting
second to the right of S. P is sitting between O and Q. U is NOT sitting at any extreme end. R is sitting to the left of T.
Who is sitting fourth to the right of U?

Ans of 1 R
X2 Q
XaT
K4 P

Question ID : 9895803372
Chosen Option : 3

Q.1 Choose the option that most closely resembles the mirror image of the given word when mirror is placed at right side.

X 1| YAITYOM

Ans

< 2. | YFILMOM




X 3| YAILYOM

v 2 | yaTsiom

Question ID : 9895803386
Chosen Option : 4

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
' Dispur : Assam : : Kohima : ?
Ans 1. Capital
X 2. sikkim
3. Meghalaya

4. Nagaland

Question ID : 9895803367
Chosen Option : 4

Q2-1 Select the option that will correctly replace the question mark (?) in the series.

6,21,51,96.?
Ans of 1156
< 2176
X 3136
X 4 116

Question ID : 9895803377
Chosen Option : 1

%! Choose the odd one out of the given options.

Ans of 1. LNM
& 2. RNK
X 3 JKV
X 4 HLW

Question ID : 9895803365
Chosen Option : 3

Q‘il Find out the two signs to be interchanged to make the following equation correct.
27+48x2-7+3=30
Ans X1 -and +
X2 +and-
V'3 xand+
X 4 -and x

Chosen Option : 3

o

[ Question ID : 9895803382 ]




® Choose the option that would follow next in the given figure series.

A X X | 2

A B C D E

Ans

F 0

v

K 3.

F

X)X (B (X

Question ID : 9895803383
Chosen Option : 2

Qél Select the option that will correctly replace the question mark (?) in the series.

TOD, RQB, PSZ, NUX, ?
Ans - X1 LWU

X2 LVW

X 3. LWW

v i LWV

Question ID : 9895803364
Chosen Option : 2

Q.1 Select the option that is related to the third number in the same way as the second number is related to the first number.
7

45::.315::37:2
Ans X 1. 144
v 2 259

< 3. 169

X 2 221

Question ID : 9895803379
Chosen Option : 4

Q.1 In a certain code, STEERING is written as TEIGTEIG. How will QUESTION be written in that code?
8

Ans X1 USINVSIN




< 2. USINUSIN
v 5. USINUSIN
< 4. USINUSIN

Question ID : 9895803370
Chosen Option : 1

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
9 s true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1.) Some owls are horses.
2.) Some horses are hares.
Conclusions:
1. Some owls are hares.
II. Some hares are owls.

Ans 1. Only conclusion II follows.
2. Only conclusion I follows.

X 3. Both conclusions follow.
v 4 Neither conclusion I nor conclusion II follows.

Question ID : 9895803376
Chosen Option : 2

Q2 Choose the odd one out of the given options.
Ans - X 1. Ghana

X 2 Cuba

< 5. Egypt

v« Berlin

Question ID : 9895803366
Chosen Option : 4

Ql-z Select the option that will correctly replace the question mark (?) in the series.

5,.6,14,41.?
Ans - X1 135
v 2 105
X 3 115
X4 95

Question ID : 9895803378
Chosen Option : 4

Q.2




Select the option that will correctly replace the question mark (?) in the given pattern.

(16) (36) o
OJONORONONO

ans X1 34
X215
Vs 64
X8

Question ID : 9895803381
Chosen Option : 1

Q.2 J.KL.M, N and O are six teachers. Each one teaches a different subject out of Hindi, English, Math, Science, Social
3 Science and Arts, NOT necessarily in the same order. Each of them teaches on only one day, from Monday to Saturday,
NOT necessarily in the same order. J teaches Arts on Saturday. L teaches neither English nor Social Science, but he
teaches on Thursday. Wednesday is reserved for Maths taught by K. O teaches Science a day before N. Social Science is
taught a day before Arts. Which subject is taught on the day between Thursday and Saturday?

Ans o 1. Social Science
& 2. Maths
& 3. Science

4. English

Question ID : 9895803374
Chosen Option : 4

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
4
Famous : Renowned : : Moisten : ?

Ans  of 1 Drench
& 2. Desire
/< 3. Debate
X 4. Drink

Question ID : 9895803368
Chosen Option : 2

QE;Z Select the Venn diagram that best represents the given set of classes.

Whales. Bats, Mammals

oL

X2




Question ID : 9895803388
Chosen Option : 4

Qéz Which of the following Union Territories is given partial statehood in India?
Ans 1. Chandigarh
2. Dadra and Nagar Haveli

& 3. Daman Diu
v 2. Puducherry

Question ID : 9895804948
Chosen Option : 1

Q2 Malaria and Kala Azar are caused by:

Ans X 1. bacteria
2. fungi
' 2. protozoa

X 4. virus

Question ID : 9895804940
Chosen Option : 1

%2 Choose the correct group of important Gods of the Vedic period.
Ans 1. Brahma, Prajapati, Garuda
2. Seshanaga, Chandra, Yama
/< 3. Varuna, Vishnu, Shiva
4. Agni, Indra, Soma

Question ID : 9895804933
Chosen Option : 1

Qéz Which of the following statements is NOT correct about the Tundra type of vegetation?

Ans 1. Small shrubs are a part of this vegetation.

# 2. Moss and lichens are found here.
3. The growth of natural vegetation is limited here.

4. It is found in a temperate region.

Question ID : 9895804936
Chosen Option : 4

—




Q(-)3 The Justice Rajendar Sachar Committee was set up by the Government of India to :
Ans 51
study the condition of unorganized sector of Indian Economy.
2. study the conditions of National parks in India.
3. examine the status of India’s foreign policy.

v -

examine the social and economic status of the Muslim community.

Question ID : 9895804947
Chosen Option : 1

23 In the context of Elections in India, the term VVPAT stands for :

Ans - X 1. Voter Visit Poll Account Trail
X 2. Voter Vivid Press Audit Trail
3. Voter Verifiable Paper Audit Trail

4. Voter Verifiable Paper Account Trail

Question ID : 9895804944
Chosen Option : 3

Q.3 Which of the following places served as the venue for the closing ceremony of Pravasi Bharatiya Divas 2019?
2

Ans 1. Chandigarh
/< 2. Pune
V'3 Varanasi
& 4 Kochi

Question ID : 9895804945
Chosen Option : 3

%3 The other name of the tertiary sector is :

Ans  of 1 service sector
2. primary sector
3. manufacturing sector

4. public sector

Question ID : 9895804951
Chosen Option : 1

Q3 ‘Bibi Ka Maqbara, the replica of the Taj Mahal is situated in :
Ans 1. Chandarnagar
2. Aurangabad

< 3. Ahmedabad
X 4 Cuttack

Question ID : 9895804928
Chosen Option : 3




Q.3 In the context of the Indian Constitution, which of the following Articles guarantees the Right to Freedom of Religion to
5 its citizens?

Ans X1 Article 14
v 2 Article 25
< 3 Article 32
< 4 Article 22

Question ID : 9895804949
Chosen Option : 1

Q.3 The type of unemployment in the agricultural sector of India where more people are employed than required is known as:
6

Ans 1. disguised unemployment
& 2. seasonal unemployment
3. structural unemployment

4. marginal unemployment

Question ID : 9895804950
Chosen Option : 3

Q3 Sandstone is an example of :

Ans - X 1. non-foliated rock
2. sedimentary rock

3. igneous rock

4. metamorphic rock

Question ID : 9895804935
Chosen Option : 4

Qé3 Which bridge connects Dibrugarh in Assam to Pasighat in Arunachal Pradesh?
ms X L. Naini
2. Bogibeel
# 2. Coronation
& 4 Pamban

Question ID : 9895804946
Chosen Option : 2

Q.3 Food containing oil and fat, when kept for a longer time, causes a change in its taste and smell due to the process of
9

Ans 1. decomposition

& 2. fermentation
3. rancidity

< 4. substitution

Question ID : 9895804943
Chosen Option : 1

Q(')"' The Ryotwari System was introduced by:




Ans 1. Warren Hastings
X 2. Lord Cornwallis

v 3 Thomas Munro
4. Lord Ripon

Question ID : 9895804932
Chosen Option : 3

Q.4 With reference to the Mahatma Gandhi National Rural Employment Guarantee Act. which of the following statements
1 isNOT correct?

Ans 1. It is also known as the Right to Work.
2. It is implemented by the Ministry of Rural Development.
3. It was initiated by the Government of India in 2009.

4. It guarantees 100 days of work to the beneficiary.

Question ID : 9895804952
Chosen Option : 2

Q2-4 The Bandipur National Park is located in which of the following states of India?

Ans  of 1 Karnataka
/& 2. Tamil Nadu
X 3. Odisha
4. Chhattisgarh

Question ID : 9895804934
Chosen Option : 1

%* Light Year is related to :

Ans X 1. weather

v 2 distance
& 3. sound
X 4. speed
Question ID : 9895804941
Chosen Option : 1
Q‘i"' The _ collects sound from the surroundings.

Ans - X 1. auditory nerve
2. tympanic membrane

& 3. cochlea
4. pinna

Question ID : 9895804939
Chosen Option : 1

Qé"' The 2018 Dronacharya Award for Table Tennis was given to :
Ans “ 1




& 2. Jiwan Kumar Sharma
3. Vijaya Sharma
X 4. Tarak Sinha

Question ID : 9895804938
Chosen Option : 4

Qé4 The Lahore session of the Indian National Congress is significant because :

Ans 1. it passed the resolution to demand Poorna Swaraj.
2. it passed the resolution to start the Rowlatt Satyagraha.
S

it passed the resolution to hold civil services examination in India.

4. it passed the resolution to boycott provincial elections.

Question ID : 9895804931
Chosen Option : 2

Q7'4 After some days, statues of brass and bronze become green due to:

Ans X 1. oxidation
v 2 corrosion
< 3. erosion
4. decomposition

Question ID : 9895804942
Chosen Option : 1

Qé“ The bronze sculpture of Nataraja was cast during the period of the:

Ans X 1. Cheras

X 2 Pallavas

v 3 Cholas
4. Pandyas

Question ID : 9895804930
Chosen Option : 3

Q§4 ‘Bali Yatra’, the voyage to Bali, is celebrated in which of the following states of India?

Ans - X 1. Tamil Nadu
2. Rajasthan
X 3 Kerala
v 2 Odisha

Question ID : 9895804929
Chosen Option : 4

Q.5 Which Indian cricketer has become the fastest bowler to claim 100 wickets in One-day Internationals as on January
0 2019?

Ans X 1. Ishant Sharma
X 2. Umesh Yadav




3. Hardik Pandya
v 4. Mohammed Shami

Question ID : 9895804937
Chosen Option : 4

Y “What is the value of [G+%—4x§x§)of(3+i+i)]?

3 3 2

Ans

1
Xz
2

ol

252

(B]

Question ID : 9895805029
Chosen Option : 1

Q.5 K alone can complete a work in 20 days and M alone can complete the same work in 30 days. K and M start the work
2 together but K leaves the work after 5 days of the starting of work. In how many days M will complete the remaining

work?

Ans 1. 35/2 days
. 25/2 days
. 55/2 days
. 45/2 days

N

w

I

Question ID : 9895805044
Chosen Option : 2

Q.5 A sum becomes three times of itself in 10 years at the rate of simple interest. What is the rate of interest per annum?

3

Ans - X1 25%
v 2 20%
X3 15%
X< 4 30%

Question ID : 9895805041
Chosen Option : 2

Q-5 The sum of the volume of two solid spheres is 1144/3 em?. If the sum of their radii is 7 cm, then what will be the
difference of the radii?

Ans X1 4cm
X 2 3cm
X3 2cm
v i 1cm

Question ID : 9895805049
Chosen Option : 2

Q5




5 Rohit, Mohit and Sumit individualy can complete a work in 8 days, 14 days and 21 days respectively. In how many days
these three together can complete the same work?

Ans 1. 156/43 days
2. 168/41 days
3. 168/43 days
4. 156/41 days

Question ID : 9895805043
Chosen Option : 4

95 What is the mode of the given data?

S0 1 02 120 1206118 2
Ans off 11

K20
K32
X3

Question ID : 9895805034
Chosen Option : 1

Q.5 Ifanumber is divided by 14, then it becomes equal to 10% of the second number. First number is how much percent
7 more than the second number?

Ans  of 1 40%
X 2. 45%
X 3. 60%
X 4 30%

Question ID : 9895805035
Chosen Option : 1

QéS If selling price of an article is T638 and profit is 45%, then what will be the net profit?

Ans X1 %256
< 2 3287.1
< 3 440
v i T108

Question ID : 9895805036
Chosen Option : 3

Q.5 If Sohan is driving a bike at a speed of 25 m/s, then in how much time Sohan will cover a distance of 540 km?
9

Ans X1 7hr
<2 5hr
<3 216hr
v'i 6nhr

Question ID : 9895805045
Chosen Option : 4

Q.6 The area of a square and a rectangle are equal. The length of the rectangle is greater than the side of a square by 5 cm
O and its breadth is less than the side of square by 4 cm. What will be the perimeter of the rectangle?




Ans X 1. 84 cm
v 2 82cm
& 3 76 cm
X4 72cm

Question ID : 9895805048
Chosen Option : 1

Q.6 The ratio of two numbers is 13 : 20. If the difference between them is 189, then what is the smaller of the two numbers?

1

Ans X 1. 279
X2 221
X 3 297

W 2 351

Question ID : 9895805038
Chosen Option : 2

Q.6 Marked price of an article is 40% more than its cost price. If 50% discount is given on the article, then selling price is
2 what percent of the cost price?

Ans X1 78%
v 2 70%
< 3 93%
X 4 84%

Question ID : 9895805033
Chosen Option : 1

Q3'6 The line chart given below shows the production (in 10000s) of cars in 7 different months.

36 38

Ml M2 M3 M4 MS M6 M7

What is the average monthly production for the given 7 months?
Ans 1322 (in 10000s)

2. 21.6 (in 10000s)
3. 23.5 (in 10000s)
4. 28.8 (in 10000s)

Question ID : 9895805051
Chosen Option : 1

|
Q6




The table given below shows the marks obtained by 4 students in 5 subjects. The maximum marks
of each subject is 100.

Students

Subjects
P1| P2 P3| P4

S1 8911009291

S2 62| 52 (72 37

S3 57| 55 (70| 65

S4 76| 85 |76 | 58

S5 85| 70 | 66 | 62

‘What are the average marks per subject obtained by P2?
Ans of 1724
X2 758
X 3. 70.6
X 4 74.6

Question ID : 9895805052
Chosen Option : 1

Q6
5 What is the value of [45 of G+i—i)—(6%+3 —4)+ 2] 2
Ans 131
v i
6
147
2., —
11
109
3 —

x
<

: 33
4, o=
5 T

Question ID : 9895805030
Chosen Option : 3

Qéﬁ If Mohit can cover a distance of 1872 km in 26 hours, then what is the speed of Mohit?

Ans - X136 m/s
X2 20m/s
<3 24 mis
v i 72mis

Question ID : 9895805046
Chosen Option : 2

Q.6 A person purchases calculators at the rate of T345 per calculator. If he sells calculators on 40% loss then what will be
7 the selling price of 28 calculators?

Ans X 1. F6872
X 2 T8657
X 3. T13524




v 4 5796

Question ID : 9895805037
Chosen Option : 1

Q.6 Height of a right circular cylinder is 20 cm. If the radius is its base 14 cm, then what will be the curved surface area of

8 the cylinder?
AN 1 1940 em?
2. 2120 em?
31760 cm?
4. 1880 cm?

Question ID : 9895805047
Chosen Option : 4

I ———————————————————————————————————————————
Q.6 The average salary of managers is x and the average salary of workers is y. The number of the managers is 15 times of
9 the number of workers. What is average salary of managers and workers together?

ANS 1 (15x +y)/16
2. (15x+y)(x+y)
3. (x+ 15y)/(x+y)
4 (x +15y)/16

Question ID : 9895805032
Chosen Option : 3

e _________________________________________________________|
Q.7 The average weight of 10 articles is 65 kg. If three articles having an average weight of 72 kg are removed, then what
0 will be new average weight of the remaining articles?

Ans 1. 58 kg
2. 65 kg
3. Tlkg
4. 62 kg

Question ID : 9895805031
Chosen Option : 3

Q.7 P.Qand R invest 14000, 18000 and T24000 respectively to start a business. If the profit at the end of the year is
1 325480, then what is difference between the share of P and Q?

Ans X1 32670
< 2 3480
v 3 Z1820
< 2 22140

Question ID : 9895805040
Chosen Option : 3

Q.7 What will be the highest number which when divides 52 and 104 leaves remainder 4 and 8 respectively?
2

Ans X 1. 12
v 48
X316




X 4 26

Question ID : 9895805028
Chosen Option : 3

Q7 Ifx :y =154, then what will be the ratio of (x/y) : (3/x)?

Ans of 125:16
X 216:25
X34:5
X4 5:4

Question ID : 9895805039
Chosen Option : 3

Q‘-l7 The line chart given below shows the production (in 10000s) of cars in 7 different months.

36 38

Ml M2 M3 M4 MS M6 M7

Production of cars in month M2 is how much percent more than the production of cars in month M1?
Ans X1 25%

X 2 37.5%

X 3 33.33%

v 1. 28%

Question ID : 9895805050
Chosen Option : 3

Q.7 A sum of 74500 is lent at compound interest. If the rate of interest is 10% per annum (interest is compounded annually),
5 then what will be the amount after 3 years?

Ans of 159895
< 2 T5689.5
< 3 T5686.5
< 4 T5889.5

Question ID : 9895805042
Chosen Option : 1

Section : English Language

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No Improvement.

The prince was told Kkill the dragon, but in order to do so, he had to cross the Forbidden Mountain.

Ans X 1. was told killing the dragon
X 2. No improvement
X 3. was told too kill the dragon
' 4 was told to Kill the dragon

Question ID : 9895804491
Chosen Option : 1




—

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
Ten years since Mobhit left India and started working for the betterment of the downtrodden people.
Ans 1. Ten years since

< 2. the betterment of
3. started working for

& 4. Mohit left India

Question ID : 9895804488
Chosen Option : 4

Q3 Select the option that means the same as the given idiom.

At the drop of a hat
Ans 1. Instantly
X 2 Lately
3. Slowly
X 4 Seldom

Question ID : 9895804506
Chosen Option : 3

Q4 Select the correctly spelt word.

Ans - X 1. Calander
v 2 Calendar
< 3. Calandar
< 4 Calender

Question ID : 9895804511
Chosen Option : 4

Q5 Select the most appropriate option to fill in the blank.

The film we saw last night was boring. IwishI __ seenit.
Ans X 1 didn’t
¥ 2. hadn’t
& 3. shouldn’t
X 4 wouldn’t have

Question ID : 9895804495
Chosen Option : 1

Q6 Select the correctly spelt word.
Ans - X 1. Mentainance

# 2. Maintainance

< 3. Maintainence

v 4 Maintenance




Question ID : 9895804510
Chosen Option : 2

Q7 Select the antonym of the given word.

BOISTEROUS
Ans 1. Aggravated

X 2. Incompetent

v 3 Restrained
& 4 Exuberant

Question ID : 9895804504
Chosen Option : 1

@8 Select the word which means the same as the group of words given.

A person who thinks he/she is the best.
Ans - X' 1. Eccentric
2. Egoist
< 3. Selfish
X 4 Garrulous

Question ID : 9895804872
Chosen Option : 1

Q.9 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No Improvement.

The mobile company changed their handsets last year, and by doing so they have managed to improve their sale.

Ans 1. No improvement
2. improve the sale

3. improve their sales

N

. improved their sales

Question ID : 9895804492
Chosen Option : 4

le Select the synonym of the given word.

AMIABLE
Ans X 1. Cheerful
< 2. Bashful
/< 3. Hostile
4. Friendly

Question ID : 9895804503
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
1 substitute it, select No Improvement.

Don’t use those pencils; use the one we bought in Portugal.




Ans " 1 No improvement
X 2. yse this ones
/< 3. use one

v 4 use the ones

Question ID : 9895804493
Chosen Option : 2

1 :
Q2 Select the synonym of the given word.

TURBULENT
Ans  of 1. Violent
< 2. Miserable
X 3. Accurate
< 4. Troublesome

Question ID : 9895804502
Chosen Option : 1

Q3-1 From the given options, identify the segment in the sentence which contains the grammatical error.
If I am a bird, I would fly and explore the world.
Ans 1. Iwould fly
2. and explore

v 3 Iflam
& 4. the world

Question ID : 9895804490
Chosen Option : 3

Q1 Select the most appropriate word to fill in the blank.

Beware of him. He is asslyasa

Ans X 1. goat
X 2. rabbit
X< 3. snail
v 4 fox

Question ID : 9895804513
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Most animals have their own habitats (1) some make long
journeys from one region to another. This (2) called
migration. It takes place at a particular (3) of the year.
Birds are the best-known (4) but many other animals also
migrate to places with (5) climate.

SubQuestion No : 15




%1 Select the most appropriate option to fill in blank
number (1).

Ans of 1 but
< 2. because
X 3 s0
5 4 as

Question ID : 9895804497
Chosen Option : 1

Comprehension:
In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Most animals have their own habitats (1) some make long
journeys from one region to another. This (2) called
migration. It takes place at a particular (3) of the year.
Birds are the best-known (4) but many other animals also
migrate to places with (5) climate.

SubQuestion No : 16

%1 Select the most appropriate option to fill in blank
number (2).

Ans X' 1. are

< 2. were

VEST

5 4 was

Question ID : 9895804498
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Most animals have their own habitats (1) some make long
journeys from one region to another. This (2) called
migration. It takes place at a particular (3) of the year.
Birds are the best-known (4) but many other animals also
migrate to places with (5) climate.

SubQuestion No : 17

Q1 Select the most appropriate option to fill in blank
number (3).

Ans X 1. season
V2 time
#< 3. month
7< 4. part

Question ID : 9895804499
Chosen Option : 1

—




Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Most animals have their own habitats (1) some make long
journeys from one region to another. This (2) called
migration. It takes place at a particular (3) of the year.
Birds are the best-known (4) but many other animals also
migrate to places with (5) climate.

SubQuestion No : 18
%! Select the most appropriate option to fill in blank
number (4).
Ans X 1 visitors

2. migrants
& 3 travellers
< 4. tourists

Question ID : 9895804500
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Most animals have their own habitats (1) some make long
journeys from one region to another. This (2) called
migration. It takes place at a particular (3) of the year.
Birds are the best-known (4) but many other animals also
migrate to places with (5) climate.

SubQuestion No : 19

%! Select the most appropriate option to fill in blank
number (5).

Ans X 1. extreme

v 2. favourable

< 3. harsh

< 4 cold

Question ID : 9895804501
Chosen Option : 1

Q2 Select the antonym of the given word.

URGE
Ans  of 1 Deter
X 2. Persuade
X 3. Triumph
< 4. Request

Question ID : 9895804505




l Chosen Option : 1

Q1'2 Select the most appropriate option to fill in the blank.

When she bid farewell to her parents, her eyes were full  tears.
Ans - X1 with

v 2 of

X 3 from

X 4 by

Question ID : 9895804494
Chosen Option : 4

Q2-2 From the given options, identify the segment in the sentence which contains the grammatical error.

He cannot speak Spanish because he was born and brought up in Spain.

Ans 1. born and brought up
2. He cannot speak

v 3. because he was
4. in Spain.

Question ID : 9895804489
Chosen Option : 1

Q?;z Select the word which means the same as the group of words given.

A life history written by somebody else
Ans 1. Autobiography
2. Museology
3. Biography
4. Bibliography

Question ID : 9895804509
Chosen Option : 1

Qf Select the option that means the same as the given idiom.

Spill the beans

Ans 1. To keep the secret
2. To be productive

v 3 To leak the secret
4. To be clumsy

Question ID : 9895804507
Chosen Option : 1

QE',Z Select the most appropriate word to fill in the blank.

Let us go for a picnic today. The is very pleasant.




Ans x 1. atmosphere
X 2. climate

v 3. weather
X 4. season

Question ID : 9895804512
Chosen Option : 2

Section : Hindi Language

! R AT e ¥ GATTATE o T AT FII

Question ID : 9895804047
Chosen Option : --

Q2 Ry I g F BT UE o A

TS FTH FI dTell

Question ID : 9895804050
Chosen Option : --

O? TEr I T U F T FY
M ety

Chosen Option : --

o

[ Question ID : 9895804053 ]




T 7w I & Witk @3 # Sorlia &= F BT 7a8 39y Reew &1 997 #1

sraRiE B e & R ATt S
e L el &
2. 3yeTTioeRT &
S TR T
- e & fore

~

Question ID : 9895804032
Chosen Option : --

°° Red e B RS ¥ T TEd 3UGEA Uqeg H TTT HL

I FAew aga gl

Ans 1 AR
2. gBT?'IT

4.§?T‘ET

Question ID : 9895804037
Chosen Option : --

¥ R T # o F T Ta9 39S Aeg 1 TS

FAT R e # AT forsrelr e & STl

Ans L e
X2 T
< 3. HegaT

. Ig

Question ID : 9895804035
Chosen Option : --

Q7 T T aET F 9E ST A HY o FE IR A

ZH O avg & FHaT F § W F gARN FH H 3Afed g gl
ALl T B @Y




X 3. 3cafed g gl
4 FHTHAT F &

Question ID : 9895804029
Chosen Option : --

*° T T TEw # T AT A HY o B IR P

9§ HOF gEIT & =T F T e AT 9

AL e @ e
2 F 3
3. GERT T AT W
4. ifsT o

Question ID : 9895804028
Chosen Option : --

*? T T g w0 RehE T
ICE
Ans X' 1. FIT
o

3 HFAR
X 4 FJIOT

Question ID : 9895804045
Chosen Option : --

% TEr TS I oeg W TEA Y
Ans Lm

Question ID : 9895804052
Chosen Option : --

Y Roa T # e & R T 39gFd wee F 9T

3F FamE aRa F v gl
Ans Lm




X< 2 Aret

4. 37TeremY

Question ID : 9895804034
Chosen Option : --

Q2-1 T av a7 W@ifea @3 # sfaraia & & O 7a8 39gea ReeT &1 99 H{

# O TR TG Fr FoueT AT §, ZHE TR Fe frurer & gem
AL 3y emer FIE R 2T
2. 3TeRT egeT o7 e geml
5 3R HeweT Hig fha & g
4 3T HegeT Fg AT el

Question ID : 9895804031
Chosen Option : --

U R a3 Ty F AT vE e AT

HTHTT T Tl TeAT
Ans  of 1 IETST
X 2 aeprei
S Al
4.31?13?_];@'

Question ID : 9895804051
Chosen Option : --

% Rea we @1 s F AT ged 39gFd UeE H TTA F

HTTFH T gl
Ans X1 qrer
X 2 Fel
S HHAA

g

Question ID : 9895804036
Chosen Option : --

Q1




T 717 oreg & qATIETEY oe & TIA FII

qrfor

Ans X 1. gedr
X2 9
v
X 4 g

Question ID : 9895804046
Chosen Option : --

Comprehension:

frrafaf@a ez & Rea Ty # 9fT e@ner & @ o
AT FeAl F HJAX HIIAT -

Fel FANT T WEpias (1) & 98 R 3E=T a1l ‘Feg
T B F AT FH A A WA (2) T AT, ATdeRar
A FeER #r Rew & 3@F T THS (3) & afFa
AT & WY gH (4) FTT FT A TN AT & FAS
# s geat # (5) e F e B
SubQuestion No : 16
% gy & wHfad Rea T (1) & T swgea
reg gIem
Ans 1_?
2. 3ETAT
< 3 FoFar
4.3an|'a;

Question ID : 9895804039
Chosen Option : --

Comprehension:

ferafaf@a seamer & Rea wumr & i aeaner & @ o
AT gAT F HFER HIAT -

Fsf gANT 3 WEplaH (1) % 9¢ W 3= a1l feg
T A & A FH A A T (2) T AT, ATaRar
3 FeER Fr Rerw & 3% T THF (3) & A=
HT & T A (4) FTT FT e TN AT & FAS
# Afae Fear & (5) &= F THerdr 7l
SubQuestion No : 17

% ey # Gafad Rea T (2) & e sugea
ereg gIem




Question ID : 9895804040
Chosen Option : --

Comprehension:

ol seamr & Rea et & 9T e & 39 e
AT g F FFER HAT -

Fsf gANT & WEHlaH (1) % 98 R 3T aml freg
¥ B F AT FH A A T (2) = AFTAT, AfaFar
AR g & RNew A 39w Ty TTH (3) & afFaT
THET & T A (4) FTT FT A N A & FAS
# Afds Fqeat (5) &T= @1 fAer &
SubQuestion No : 18

% e # gHfad Red T (3) F e suged
Qreg grem

Ans 1'1:”&%
X2 g
< 3. SepTer

4 afeAToT

Question ID : 9895804041
Chosen Option : --

Comprehension:

ol ez & Rea wuet & 9fT s & 9= e
AT g F HFER HfAT -

w3l gART 3U WEpias (1) % 9 9T 3T a1l faeg

TF B & A FH A 7 (2) =T AASAT, AfaFar
AR FerER Hr Rew N 39F Ty T (3) & aferer

AT F T gH (4) FTT FT A N A & FAS
# s geat & (5) TTer #r e B

SubQuestion No : 19
% e # Gafad Rea T (4) & e sugea
eTeg gIem
ans L grafaeE
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